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y Cu(s) +2 Ag' = Cu** +2 Ag(s)

Ifthe equilibrium constant for the reaction
ibove is 3.7 x 10%3, which of the following
orrectly describes the standard voltage, E°,
ind the standard free energy change, AG°®,
for this reaction?
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{ (B) E° is negative and AG® is positive.
vith respect to (C) E° and AG® are both positive.
WD) E° and AG® are both negative.

(E) E° and AG® are both zero.
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24. CuO(s) + H(g) S Cu(s) + H,0(g) AH=-2.0Kk]

The substances in the equation above are at
equilibrium at pressure P and temperature T.
The equilibrium can be shifted to favor the
products by

(A) increasing the pressure by means ofa
moving piston at constant 7'

(B) increasing the pressure by adding an inert
gas such as nitrogen

(C) decreasing the temperature

(D) allowing some gases to escape at constant it
and T’

(E) adding a catalyst

25. The molality of the glucose in a 1.0 M glucose
solution can be obtained by using which of
the following?

(A) Solubility of glucose in water
(B) Degree of dissociation of glucose
(C) Volume of the solution

(D) Temperature of the solution

(E) Density of the solution

26. The geometry of the SO, molecule is best
described as

(A)trigonal planar
(B) trigonal pyramidal
(C) square pyramidal
(D) bent

(E) tetrahedral

27. Which of the following molecules has the
shortest bond length?

(A)N,
(B)O,
(C) Cl,
(D) Br,
E) L,





